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uksV& lHkh iz'u gy dhft;sA

Attempt all questions.

[k.M (v)

(Section A)

1. oxZ foiFku ds nks"k ls D;k vfHkizk; gS\ bldk dkj.k fyf[k;sA vo.kZdrk fdls dgrs gSa\ dqN nwjh

ij j[ks nks ysUlksaa ds la;ksx ds fy;s vo.kZdrk dh 'krZ Kkr dhft;sA bl 'krZ dh D;k lhek gS\

13/16

What is meant by chromatic aberration ? What is its cause ? What is

achromatism ? Obtain the condition of achromatism for the combination of

two lenses at some separation. What is the limitation of this condition ?

2. fudkWy fizTe dh lajpuk rFkk bldh dk;Zfof/k dk o.kZu dhft;sA bls /kzqod rFkk fo'ys"kd dh

Hkkafr fdl izdkj mi;ksx esa yk;k tkrk gS\  13/17

Describe the construction and working of a Nicol prism. How it can be used

as a polariser and analyser ?

3. :ch yslj dh lajpuk rFkk bldh dk;Zfof/k le>kb;sA 14/17

Explain the construction and working of a ruby LASER.

P.T.O.
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[k.M (c)

(Section B)
4. xkl dk izes; fy[kdj flº dhft,A  13/16

State and prove Gauss’s theorem.
5. ,sfEi;j dk ifjiFkh; fu;e fyf[k, rFkk bls flº dhft,A        13/17

State and prove Ampere’s circuital law.
6. O;k[;k dhft, (fdUgha nks ij) % 14/17

(1) lkbDyksV™kWu
(2) leLFkkfud
(3) osx ojtd
(4) dSFkksM fdj.k dEiun'khZA
Write short notes on any two :
(1) Cyclotron
(2) Isotopes
(3) Velocity Selector
(4) Cathode ray oscilloscope.
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